AT 4%y MFASE

FfER  HF07406 8158 BBAN)—0 5T
B sz K % OUT IN GR HDCP  NET e B sz K % OUT IN GR HDCP  NET e

1 wx #HL 92 49 101 30 A 16 Rl i 49 44 93 15 18

2 ;% N 46 47 93 21 12 17 =8 a5 48 48 96 17 19

3 A&AHE fEEEp 45 46 91 18 13 A-1IBG 18 =€ FF 48 51 99 20 19

4 REIRF i 45 52 9] 23 14 19 mAR K 94 | 53 107 217 80

5 Ik RE 46 47 93 18 15 20 =R H#E 51 59 110 26 84

6 ML R 49 = 54 103 28 15 21 Fh 69 94 59 113 29 84

7 fF F—H 50 54 104 29 15 22 W& REE o/ 63 120 36 84

8 &0 #BF 45 50 95 20 15 23 xH BHE 94 56 110 25 85

9 ML BHE 50 49 99 23 16 24 &k R 49 57 106 21 85

10 /MNEiZE HEikF 47 48 95 19 16 25 i EF 50 46 96 11 85

11 A& 8B 43 51 94 17 17 26 Hith H=E 57 54 111 25 86

12 FEE  F|{Z 45 48 93 16 17 21 mE EE 95 48 103 14 89

13 mF BT 49 = 53 102 24 18 28 Hith BEX 95 51 112 17 95

14 NEE SFR 48 43 91 13 18 A-1BG

15 KRR =@ 4 46 93 15 78
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4o K A outT IN GR HDCP = NET I =L K A outT IN  GR HDCP = NET e

1 KR X 50 47 97 29 68 31 MAMR KE 48 38 86 7 79
2 HE KX 41 | 45 86 18 68 32 B 50 46 96 17 79
3 XF EE 42 39 81 12 69 33 B & 48 | 47 95 16 79
4 ME ZEN 38 33 T 2 69 BG 34 Fol B 0 50 49 99 20 79
5 dLiE KX 38 39 T 1 70 35 1t¥ ¥ 50 49 99 19 80
6 =Y EZ 47 48 95 23 12 36 A0 #R=B 54 47 101 20 81
7 4 & 37 41 78 5 13 37 B m%E 51 | 44 95 14 81
8 WE F= 45 45 90 16 14 38 Rl =& 43 | 45 88 7 81
9 BY RX 43 | 42 85 11 14 39 HE &B 49 = 46 95 13 82
10 #K Fl— 44 43 8] 12 75 40 XRB St 43 49 92 10 82
1 A #X 40 39 79 4 75 4 '\ E- 55 | 53 108 26 82
12 B#E RE 48 43 91 16 75 42 @K O3 48 = 50 98 16 82
13 #@l m= 39 41 80 5 75 43 KRR #H# 37 50 87 4 83
14 I PRz 46 49 95 20 75 44 )i RS 50 = 51 101 17 84
15 #@F (= 46 53 99 24 75 45 R =X 54 | 55 109 23 86
16 AR == 40 36 76 1 75 46 HFF fE— 53 53 106 19 87
17 #JE  Z88 48 | 44 92 16 16 47 #3# #Mc 59 | 56 115 217 88
18 ALK &KX 46 52 98 22 16 48 XRFH =M 60 56 116 28 88

19 #BHF BE=x 45 40 85 9 16

20 AR mE 43 | 43 86 10 16

21 & R/RX 49 44 93 16 11

22 5h¥F B— 4 49 93 16 17

23 2R —5h 48 47 95 18 17

24 HE 1E 40 44 84 1 17

25 FR¥ —M 51 46 97 19 18

26 BAER BFH 46 47 93 15 18

21 #FHE E= 4 45 89 11 18

28 fEIL X 4 47 9 13 18

29 K I 43 = 45 88 10 18

30 BK EA 4 47 9 13 18
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